
TABELLA PILASTRI  QUOTA m: 0.00

PIL. PIL.

1

 
3

0

 
6

0

A

A= 2Ø16

B

B= 2Ø16

C

C= 2Ø16

D

D= 2Ø16

SPIGOLI 4Ø16

STAFFE: 26*38 LTOT=140*2

Ø8/12 L= 143

Ø8/18 L= 216

Ø8/12 L= 83

L=442 L.FER=477

2

 30

 
6

0

2Ø16

2Ø16

A

B

SPIGOLI 4Ø16

STAFFE: 26*38 LTOT=140*2

Ø8/12 L= 140

Ø8/18 L= 222

Ø8/12 L= 80

L=442 L.FER=468

3

 6
0

 
3
0

A

A= 2Ø16

B

B= 2Ø16

C

C= 2Ø16

D

D= 2Ø16

SPIGOLI 4Ø16

STAFFE: 38*26 LTOT=140*2

Ø8/12 L= 138

Ø8/18 L= 226

Ø8/12 L= 78

L=442 L.FER=499

4

 6
0

 
3
0

A

A= 4Ø16

B

B= 3Ø16

C

C= 4Ø16

D

D= 3Ø16

SPIGOLI 4Ø16

STAFFE: 35*26 LTOT=133*2

Ø8/12 L= 139

Ø8/18 L= 224

Ø8/12 L= 79

L=442 L.FER=499

5

 6
0

 
3
0

A

A= 5Ø16

B

B= 5Ø16

C

C= 5Ø16

D

D= 5Ø16

SPIGOLI 4Ø16

STAFFE: 38*26 LTOT=140*2

Ø8/12 L= 145

Ø8/18 L= 212

Ø8/12 L= 85

L=442 L.FER=499

8

 
3

0

 
6

0

A

A= 2Ø16

B

B= 2Ø16

C

C= 2Ø16

D

D= 2Ø16

SPIGOLI 4Ø16

STAFFE: 26*38 LTOT=140*2

Ø8/12 L= 165

Ø8/18 L= 172

Ø8/12 L= 105

L=442 L.FER=529
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TABELLA PILASTRI  QUOTA m: 0.00

PIL. PIL.

10

 30

 
6

0

2Ø16

2Ø16

A

B

SPIGOLI 4Ø16

STAFFE: 26*38 LTOT=140*2

Ø8/12 L= 148

Ø8/18 L= 206

Ø8/12 L= 88

L=442 L.FER=468

11

 60

 
3

0

2Ø16

2Ø16

A

B

SPIGOLI 4Ø16

STAFFE: 38*26 LTOT=140*2

Ø8/12 L= 138

Ø8/18 L= 226

Ø8/12 L= 78

L=442 L.FER=498

12

 60

 
3

0

3Ø16

2Ø16

A

B

SPIGOLI 4Ø16

STAFFE: 43*26 LTOT=150*2

Ø8/12 L= 139

Ø8/18 L= 224

Ø8/12 L= 79

L=442 L.FER=498

13

 60

 
3

0

6Ø16

3Ø16

A

B

SPIGOLI 4Ø16

STAFFE: 41*26 LTOT=145*2

Ø8/12 L= 145

Ø8/18 L= 212

Ø8/12 L= 85

L=442 L.FER=498

ACCIAIO  B450C CALCESTR. C25/30

TABELLA PILASTRI  QUOTA m: 4.42

PIL. PIL.

6

 
3

0

 
3

0

A

A= 1Ø16

B

B= 1Ø16

C

C= 1Ø16

D

D= 1Ø16

SPIGOLI 4Ø16

STAFFE: 26*26 LTOT=116

Ø8/12 L= 97

Ø8/18 L= 189

Ø8/12 L= 67

L=353 L.FER=383

7

 30

 
3

0

1Ø16

1Ø16

A

B

SPIGOLI 4Ø16

STAFFE: 26*26 LTOT=116

Ø8/12 L= 95

Ø8/18 L= 193

Ø8/12 L= 65

L=353 L.FER=379

8

 
3

0

 
3
0

A

A= 1Ø16

B

B= 2Ø16

C

C= 1Ø16

D

D= 2Ø16

SPIGOLI 4Ø16

STAFFE: 26*26 LTOT=116

Ø8/12 L= 93

Ø8/18 L= 197

Ø8/12 L= 63

L=353 L.FER=383

9

 30

 
3

0

1Ø16

1Ø16

A

B

SPIGOLI 4Ø16

STAFFE: 26*26 LTOT=116

Ø8/12 L= 96

Ø8/18 L= 191

Ø8/12 L= 66

L=353 L.FER=379

ACCIAIO  B450C CALCESTR. C25/30

scala 1:20


	Fogli e viste
	Modello


